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1. 10x12x14x16x18x20 = 29 x 3" x 5¢ x 7 & 7143]
a+b+c o &7

© 14 @1 @6 @ 17 ® 18
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10X 12 X 14 X 16 x 18 x 20
=2x5X22x3x2XxTx24x2x32x22x5
=21 %33 x52x7

=2%x3 x5 %7

a=11,b=3, c=2

“a+b+c=114+3+2=16
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X1 =97, x0=—,x3=—,xy=—0°|F T, x; - x0-x3-x4 Y
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® 2 @ 4 @6  @s ® 10

X1 = 9701_]—1, X1 X X9 = 201_1—1, X3 X X4 :4011'4'
ThERA] xp - xo - xg - xq = 2% 4 = 80|t}
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xy) = 9x2%yt
@(—2x2y)3 X (2xy)? = 32x%y°
® —4(x?)? +2xt = -2
@ 2x3 x (=3x%) = —6x°

® 16x%y + 2xy X 4x = 32x>

@ (—2x%y)3 x (2xy)? = —8x%y3 x 4x?y?
= —32x8)°
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@ (—2xy%) x (3x)? + (6y)% = _x;

@ 14a® + (—2b2)2 X (2ab2)2 — 144*
2

® (%az) x (36%)2 + (4ab?)? = %

@ (100 x (-av?)? ( ab2) = 25a”

® (-4x%) + (—%y) X (2xy%)® = 48x%y

B
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@D (-2xy?) x 9x% x 3657 5
@ 14a? + 4b* x 4a?b* = 14a*
4 A 1 a2
@ ga' XX s =7

® (100 x (-ab?)? = (~Sa?)

1
= 100a? x a?b* = §a2b4 = 900a?

3
® (—4x?y) x <_F) x 8x3y5 = 485}




5. (=x%)? = (0?2 x (2x%?)2 = axby* A W, a+ b+ ¢ & G272
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1
—x6y3 = x2y4 X 4)c4y6 = —x6y3 X=X 4x4y6
X7y

= —4x8y5 = axby*
La=-4,b=8,c=5
La+b+c=-44+8+5=9
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@ 622 x| |= 2443 © (2x)2x[_|=8x3
© 16x° =+ D = 4x8
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@l:’:24x3+6x2=4x
@|:|=8x3+(2x)2 =8x3 +4x% = 2x

16x°
— 8 _ _
© l:’ 16x” + 4x 4x8 = dx

@2x9+x7+D:x°]E§2x2+\:|:x
D:2x2;x:2x
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3ab? =~ : 4a%p < o, :0}01 | ergke 4] 2z},
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@ 112 bc @ g @ w
3a2c ® a?c
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3ab? x Ij = 4a®b

1 3b
= % 3ab? ="
D 4a3b X oa 4q?
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